10E-907116

R i
* 1

FHEVE i
No. 1 3 3}
1 SS /6 33 &7 &7
2 77 23 /& S8 $&
3 53 7/ &/ 77 S7
4 L7 Y4 42 S7 78
5 /3 78 L4 83 N
6 74 /8 62 /% 70
No. 6 8 10
1 S/ 68 /7 /7 68
2 38 N9 /7 /& 3¢
3 47 70 xa &7 /7
4 78 $& N4 40 2/
5 L7 78 27 S7 S
6 &/ &8 30 70 44




10E-907116

BRERRE k1
MITE PUE =

M, 77X&= 21| 476+7 =
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14, 78 X 4= 24| /044 =
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16| 4/ x 7= 26| 4/4+9=

17, 66 X7 = 27 /60+S8 =
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15, 78 X7 = 25| 394+ 4=

16, &2X7= 26| 234+ 6=

17| S4x 4= 27 /468+7=
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11| /6%x6= 21 /42+2-
12| //x9= 22 372+6-
13| 73%x 4= 23 /85+8=
14| 78%x9= 24 $0+2-=
15| 0% 3= 25| 495 +8 =
16| 4/ x2-= 26 $22+9-=
17] 25%x9= 271 /90+8 =
18] /$xé= 28] $2+.2-
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20| 27 x2= 30 3/2+8&=
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